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Wit YBmE (mm) (°C) (°C) (%) EER | E[m (°C) (W/m) [ (MJ/m)
1 | 10103 | 10138 X -4.7 -6.0 91 0.0 | CALM -6.6 0 0.00 X
2 | 1010.0 | 1013.5 X -3.9 -5.2 91 0.0 | CALM 5.8 0 0.00 X
3 | 1009.9 | 1013.4 X -4.0 5.4 90 0.0 | CALM 5.8 0 0.00 X
4 | 1009.5 1013.0 X -3.8 -5.2 90 0.0 | CALM -5.6 0 0.00 X
5 | 1009.5 1012.9 X -2.4 -4.0 89 0.0 | CALM -4.3 0 0.00 5 | x
6 | 1009.9 | 1013.3 X -2.5 -3.9 90 0.0 | CALM 4.4 0 0.00 5 | x
7 | 1009.8 | 1013.2 X -2.6 -3.8 91 0.4 | WSW 4.4 0 0.00 5 | x
8 | 1009.8 | 1013.2 X -2.7 -4.0 91 0.0 | CALM -4.0 40 0.05 X
9 | 1010.2 1013.7 X -3.2 -5.3 85 0.9 N -5.7 23 0.16 X
10 | 1010.3 | 1013.8 X -2.7 5.1 84 09| SE -5.0 34 0.10 5 | x
11 | 1009.5 1012.9 X -2.6 -4.9 84 0.4| SSwW -3.9 41 0.15 5 | x
12 | 1009.1 1012.5 X -2.7 5.2 83 09| SSE -4.9 44 0.16 5 | x
13 | 1008.7 | 1012.2 X -3.2 -6.0 81 1.3 E -5.6 110 0.28 X
14 | 1008.7 | 1012.1 X 2.2 -5.7 77 0.9 S 2.1 214 0.75 X
15 | 1009.4 | 1012.8 X -2.8 -8.1 67 2.7 WNw 7.1 118 0.47 X
16 | 1009.9 | 1013.4 X -2.9 -8.4 66 40| W -9.3 12 0.34 X
17 | 1010.5 1014.0 X -3.0 -8.3 67 1.8 W -7.6 0 0.01 5 | x
18 | 1011.4 | 1014.9 X -3.9 -5.9 86 22| W -9.0 0 0.00 5 | x
19 | 1011.9 | 1015.4 X -3.7 -5.2 89 1.3 w -7.3 0 0.00 5 | x
20 | 1012.7 | 1016.2 X -3.6 -5.1 89 22| W -8.6 0 0.00 5 | x
21 | 1013.2 1016.7 X -3.6 -5.0 90 1.8 W -7.9 0 0.00 5 | x
22 | 10139 | 10174 X -3.6 -5.0 90 31| W -9.8 0 0.00 5 | x
23 | 10143 | 1017.8 X -3.4 -4.8 90 1.3 w 7.1 0 0.00 5 | x
24 | 1014.4 | 1017.9 X -3.3 -4.8 89 1.8 W -7.8 0 0.00 5 | x
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